A 6% — 7a% + 17x - 32 3x - 22 Uie 52 O(x), YHAE R
ozt & ui, 0(1) + RS gk F-atolet.

> E

> =gt 13

6x3 —7x2+17x -3 = (3x-2)0(x) + R
FH x =12 HASHH, 13 = Q(1) +R
~ O(1)+R=13

6x3 —Tx2 +17x - 32 3x—22 AA AU 2 HAHE o] &

ste] Bot A1 78 4 Uk




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




oDt 2 (x4 4B AN T, 7 POl A% 5
BT vt S W, a+ b0 FE FoHH?
® 8 @15 @ @3 ® 47

(x=1)(x + 2)(x = 3)(x + 4)
= (2 +x-2)(x + x - 12)(x2 + x = X(Z&}))
— (X -2)(X—12)

=X%>-14X+24

= (x> +x)2 - 14(x% + x) + 24

=x* +2x3 - 13x2 — 14x + 24
a=142-13-14+24=0, b=24
Ta+b=0+24=24




4. (B-x*-2x+1)P =ap+ai(x-1)+ax(x=1)%+--+ays(x—- 1)
A o, ap + as + as + -+ + a4 & F= FStoft

> E

> HE: 1

€8 ~
G x =02 HYsHH

=a—ar+az---ap; QD

o] x =28 didstA

l=ay+a+az+--+as --©

O+0=3t4

2=2(ap +as+ -+ as)°lth

Lagtazt-orag=1

o =




@ (ab-a+b-1)(ab—a-b-1)
@ (ab—a+b+1)(ab-a-b+1)
® (ab+a-b+1)(ab—a+b-1)
@) (ab+a+b-1)(ab-a-b-1)

® (ab+a+b+1)(ab+a-b-1)

B

(FA4) = a®b? —a® - b* + 1 - dab
= (a®b? — 2ab + 1) — (a® + 2ab + b?)
— (ab—1)? - (a+b)’
=(ab+a+b-1)(ab—a-b-1)




6. o= T ool A= 47 obd w), g a o] RE Fe] e

x3—2x2-5x+6, x*-3x+a

-0 @-s @5 @0 ® 3

B

x®—2x% - 5x + 62 ZHAHOZ QIFE5HH
(x=1)(x+2)(x-3)
217} 0] 7o tisi Y] H2 S o]-g=rtth
i)x=1=1-3+a=0,a=2
i)x=2 = 44+6+a=0, a=-10
i)x=3 = 9-9+a=0,a=0

a3t : 2+ (-10)+ 0= -8




D)2x? +4x - 16 @ 2x2+3x-8 ® x2-5x-1

FolA A& A=a(x-2), B=b(x-2) (a, b= HZEA)

L=x3+6x*—-x-30=abG = ab(x-2) ©]1L,
L& Ql5-isfstd
L=(x-2)(x>+8x+15) =
(x=2) (x+3)(x+5)

G ab
wteba], = oAl e
(x=2)(x+3)=x*+x-6
(x=2)(x+5)=x*+3x-10 0| B2
= gaael ge

(x> +x=6) + (x2 +3x - 10) = 2x> + 4x - 16




8. MAFabc’tatbt+c=3,a+b*+c2=9,a+b3+c3=24
S 2D o, ot + b + * + 19 FHS F5HH?

@ 69 @70 ® 71 @ 72 ® 73

B \

atb+c=3---O©

2+’ +c?=9---Q

a®+ b 4¢3 =24..-Q o]zt 514,

@4 A
aA+b*+c2=(a+b+c)?-2(ab+bc+ca)=9
9-2(ab+bc+ca) =9

“ab+bctca=0 ---@

@4l A

a+ b+

= (a+b+c)(a®+b?>+ c?—ab - bc - ca) + 3abc
24 =3 (9-0) + 3abc

“abc=-1 ---®

at+b*+ct+1

= (@® + b® + c?)? - 2(a®b® + b2 + ?a®) + 1
=81-2-64+1=170

(o a®® + b2 + 2a?

= (ab + bc + ca)? — 2abc(a + b + ¢)
=0-2x(-1)x3

= 6)




